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Overview

The names used for three of the naw% nmwA are self explanatory. The name
n°on10 however needs some clarification, why do we call it with this name.
mooIn offers the interpretation given in the "% 7.

X7 9217 %10 naw w2 e — In the %21 7270 in the beginning of
N7 927 ,naw noon taught that the word 'n°%n12' stems from the word —

X1 79 Ymms — mm3, which refers to ripe grain, for the word 13 is
comprised of two (opposite) terms: >79, meaning soft and not yet mature,
and 8®», meaning full and ripe. Together they convey they meaning of 172"
112 KYR wWaY K™Y 119 K% — that the grain is neither moist nor dry, but
somewhere in between.

252777 MWD KDY 75T IAMND KD IR N9RID 91 X977 — similarly here too by
the N of a n°2»72 it is neither like a '';17 nor like a 2"'71, but somewhere
in between.’

Summary
A om0 is not like a "7, because; a) you may not carry in it more than '7

mnYR, b) you may not carry from a n°2»73 to a *"1, and c¢) if you transfer an
object from a n°%11> to a 1" it is MOK only 1277,

A n°9175 is not like a 1"717, because; a) you may not carry from a n°7»73 to a
3"77 even MR ' Mnd, and b) if you transfer an object from a n°%17> to a
M1 it is MOR only 133777.

Thinking it over
What other explanations are there why it is called a n>512?

"The 0"wna n1on is ' :0713, not 'KonY'.
% The inverse of "' is 77
? Perhaps by expressing the idea of a >3 in the negative “neither moist nor dry”, and "2";773 X2 °"7173 X"
we are given to understand that a n°9n73 is not a “real” mw. It is (a) “neither”, only a 1313772 mwA.
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